







































































































Euler's Method

We know y's duty bI yi
DX DX x Xo

we don't need to know y in order to find its valves
If we are given y flx.gl and an initial condition
ylXd yo then we can approximate y
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Xty let y fLx be the solution to this diffEq

with f111 2 Approximate f 3 with 2 steps
of equal size

I'MI 21111131 5 7

3 51111171 1123 15 f31 12

If we only know

the slopeof y at any given time dat
a starting point yes_b

Then we can approximate y
Using Euler's method
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